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Electronics Mechanic Final LEVEL 1

Q 1) The minimum requirements for flow of currents are/ HIC D Udle & f%nz JIdH
NI GRUET| gt 3|

1) A voltage source, a resistor and a switch/ Udh Jieeol @H, Wm 3R Udh =
2) A voltage source and conductors/ Yd dieedl Wd 3R HeaeR

3) A power source and a bulb/ Udh EERIESIGEREIR Udh ded

4) A voltage source , a conductor , an ammeter and a switch/ U Tl @ﬁ, U
HSIR, Th THICR 3R 1o =

Q 2) The condition for the validation of ohm s law is that the / 3 & g ot duar b
forg 2l 8 1 -

1) Temperature should remain constant/ dTJHI fa el T'alTi%'Q’

2) Current should be proportional to voltage / PC sl & G‘I'I_j'qm HEIEIREY
3) Resistance must be wire wound type/ PIGRES ‘QIITa gUdR & UHR DI g AT
4y All of these / T g+

Q 3) For the circuit shown below the equivalent resistance will be / GE] HQIiQ T4 gfthe

& forg aw uferiy B

1) 36k Q
H)12kQ
3)4kQ
H6kQ

Q 4) To increase the range of voltmeter/ JlecHIeR DI I aaﬁ & forg -

1) A low resistance in series is connected with the voltmeter/ ATeCHICY & 1Y et |
g ufeRYy SreT ST §

2) A low resistance in parallel is connected with the voltmeter/dTeaHICR o TTY THR
A g vty SireT orar 8

3) A high resistance in series is connected with the voltmeter/aTeeHIeR & AT PIC]! )
I UfeRIY SIS Sl &

4) A high resistance in parallel is connected with the voltmeter /ATeeHIeR & 1Y THR
7 3= UfaRIY SISt 1T 8

Q 5) One of the control springs of a permanent magnet moving coil ammeter is Broken. If
connected in a circuit, the meter would read / Rﬂg gD ] P QE“EQ CANCRERS
ST T 9 U ¢l g8 g afe Afdhe T g1 8!, Hiex 3 |
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1) zero/ [
2) half the correct value of the current/ dXc & ﬂ%’f b1 e ) L)

3) twice the correct value of the current/ FCH ﬂ?)f aa Y g Il
4) an infinite figure/Ud H-d Hlbh ST

Q 6) The temper%ture range for soldering process is/ 31?11‘5‘ 7 SHU UihdT & INIMGISEIG
i gl B

1) 40°C to 100°C/ 40°C ¥ 100°C

2) 180°C to 250°C/ 180°C ¥ 250°C
3) 300°C to 500°C/ 300°C ¥ 500°C
4) 600°C to 900°C/ 600°C T 900°C

Q 7) Paper capacitor is a type of/ TR et Udh YDhR p[ g %|

1) Fixed capacitor/ RIS G
2) Variable capacitor/ éﬁqaa e
3) Either fixed or Variable depending on its ussage/ IUINT & 3MYR W 7 dl VTS T

EIRCR|
4) None of these/ g:lﬁ | ﬁ_g Tel

Q 8) In forward region of its characteristics, a diode appears as / Tdh SIS 3T
faQarsit & wikas &= &1 IRE AT g

1) An ON switch/ T ON &g

2) An OFF switch/ T& OFF Rad

3) A capacitor/ Uch T

4) An high resistor/ Y I MRR

Q 9) Which of the following is not a basic Boolean operation?/ g o 9 e HolHd
gferg FaTe T8l 82

1) OR

2)NOT
3) AND
4) FOR

Q 10) Which of the following is not an advantage of SMD?/ 49 & ¥ S1F1 SMD &1 Uh

NI R

1) Smaller components/ B Qﬁ/ [BEROLED

2) Higher component density/ S&IdX YCd Ydcd

3) Better mechanical performance under shake and vibration/ YIURTGC ARFUTH ded
IER TS Y=

4) Can be used directly with breadboards / e a@@éﬂ & TTY YT fhd o1 gavd %

Q 11) What is the Boolean expression for a three-input AND gate?/ ?ﬂ?-s:iga AND T
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& forQ gfera doie & 82

NX=A+B+C
2)X=A-B-C
3)A-B-C
4YA$BS$C

Q 12) A communication method in which lower amplitude signal modulates amplitude of
a higher frequency signal is called/ Tdh IR HIETH forad g smarm R 3= &nqi%r
Ra & 3 & Tafyd a1 YIS HRd &

1) frequency modulation/?rﬂq% SfefHyor
2) amplitude modulation/ HTITH Sifafrgror
3) carrier modulation/ dlgh IRIEE

4) code modulation/ Pre ATy

Q 13) Most heavily doped of three semiconductor regions of a BJT is called/ BJT & dH
siefaTas &5 § Ty 3ifie AeH B T &

1) collector/ Hadex
2) base/ CR|
3) emitter/ QIJ\-IEQ

4) drain/ ng

Q 14) Given binary number is 00000111. It’s 2’s complement in hexadecimal form is: /

00000111 SR} TeAT & 7T B goATSUIHE U H 3BT 2's R &-

1) F8
2)F9
3)7

4) FO

Q 15) A half adder has:/ Th Hﬁ@_@fg@amal

1) I input 1 output / 1 T1YC 1 313CYC
2) 2 input 2 output/ 2 ¥TYC 2 JHI3CYC
3) 2 input 1 output/ 2 g14YC 1 AT3CYC
4) 3 input 3 output/ 3 TYC 3 3HT3CYC

Q 16) A sequential circuit is one whose output depends on: / 31'19hlr1\-ld> gfdhe dg %
RIeRT 33eye R AR B g

1) Present inputs/ CREIC] <T14c
2) Present states/ CREIRRTSI|

c c .
3) Present inputs and Present states both/ ddHI gTYC 3R g fRufa al

4) None of these/ ST A DS ol

Q 17) D flip flop tracks the/ D ESERSIE DT UdT <l %|
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1) input/ RTYC
2) output/ H3cYcC
3) source/ W

4) ground/ dcl
Q 18) J=K=0 will make flip-flops/ J=K=0 f0red Fi1q &I BT

1) changed/ gfafda

2) reversed/ URTdd
3) unchanged/ ufafdaa

4) stopped/ EH
Q 19) BCD counter counts from/ BCD B3 q e %|

1)0to5/ 095
D1to5/ 195
3)0t09/0T 9
H1t09/ 179

Q 20) Which of the following colours allows you to identify a foam fire extinguisher?/

Fo 1 Q0 IR ST T SR eI 91 St 277 €7

1) Blue/ FTdl
2) Red/ olcl

3) Yellow/ GTell
4) Cream/ P

Q 21) Joystick is a/an:/ SiaRked gl %|

1) Output device/ 3I3CYC SUDRT
2) Input device/ TYC SUDMRU]
3) Processing device/ YRR ISR

4) None of these/ T A ®I5 ol

Q 22) Which type of the following capacitors is suitable for filter circuits?/ BEEKY
G BT ST UHR heex Fldbe & o Sugad g2

1) Mica/ HIgPT
2) Ceramic/

3) Electrolytic/ faggq Saec=l
4) None of these/ ST A DIS ol

Q 23) RTDs are typically connected with other fixed resistors / RTDs AR | 3/

TR URYS A gSTedg

1) In a pi configuration/ T pi fa=arq &
2) In a bridge configuration / Ud» ESACRINE
3) And variable resistors / GﬁT éﬁqar«r UfeRIYDI
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4) And capacitors in a filter-type circuit/ 3R fheer PR Afhe § T I

Q 24) The temperature coefficient of resistance for a thermistor is/ Y e & fog
iRy BT AOHF 0le giar g

1) low and negative/ 9 3R BuneIs
2) low and positive/ 9 iR eFTETs
3) high and negative/ 3 3R FBUNHD
4) high and positive/ 3 3R YTHD

Q 25) The term Poisson s ratio is connected with/ SIS} STFUId QMo q ST %|

1) LVDT/ Tl
2) Strain Gauge/ ¥ ISl

3) Thermocouple/dTUgH

4) Thermistor/

Q 26) The principle of operation of LVDT is based on variation of / GERIHREINEED!
Rgid I EURR MR g

1) Self-inductance / ¥d - REHd

2) Mutual inductance/ UITUR b
3) Reluctance / Refdeg

4) Permeance R

Q 27) The printer in which printing head and paper is forced together to form the letters is

called/ fUiex Forgd 31&Ri o1 fmT0r B & forw flifcT 8 SR S o6l Ues Iy T
EIGIE Hedmdl g

1) non -impact printer/ Hﬁ-stﬁa% fliex
2) page printers/ U fiier

3) impact printer/ gTaTIE iR

4) line printers/ <IIg fiiex

Q 298) cables are used to set up local area networks/ dRI &1 9gRT
Rn:ﬂtr T &3 & Fead I I & g fasan wiran 3

1) Ethernet/ ‘s‘?Rfrc'
2) IDE

3) VGA

4) DVI

Q 29) DVD uses / SIdal BT TANT Bl g

1) Laser beam for both recording and playback/ RBIFST 3R WaH gl &b fou AR
ClL!

2) Laser beam for recording and video head for playback / Rpifa & m AR &Y 3R
e & fore fafedl gs
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3) Video head for recording and Laser beam for playback / RpIeT & 1%111 fafsar %3
3R @iad & Ty dioR &g
4) None of these/ 3'_'|'~Ef ) ﬁé T'|—6‘)[

Q 30) If an op-amp has one input grounded and the other input has a signal feed to it, then

it is operating as what?/ gfe U op-amp ﬁ@gﬂ'ﬂ’c’@mﬁﬁ% 3R W%ﬂ'ﬂfﬁﬁmﬁ
T, 1 UE by e & HTH PR @1 87

1) Common-mode/ HTHII s

2) Noninverting mode/R URad® HIg
3) Single-ended/ Ra-tss

4) Double-ended/ W—Q@@'

Q 31) The circuit shows the application of OPAMP as / gfhe OPAMP &1 YA

S EuHenfarg

= &
ik

j o > >
L !
1) Differentiator/ 3{dh i

2) Integrator/dHdh b
3) Voltage follower/ dlecs Wplcf[dR

4) None of these/ ST A DS ol

Q 32) The option is not a type of biasing used in transistor: / fape EA”%lE? |
T STARIT 1 UhR g1 |

1) Fixed bias / FRRR I199

2) Emitter bias/ Q&I—CT CIRES|

3) Potential divider bias/ HIAd fauTST® S99
4) Current divider bias/ HXc f[AHISTH d1TY

Q 33) The voltage gain of the following transistor amplifier is near to unity./ GE] EA”%REQ

Tqeic T decsl aTH ZiIet &b Y BT g

1) CE
2) CB
3) CC
4) All of these/ T T4t

Q 34) Colpitt Oscillator has/ BIfeUC G T g BT g

1) 1 Inductor & 1 Capacitor/ 1 o 3R | Jerfa
2) 2 Inductor & 1 Capacitor/ 2 O 3R 1 el
3) 1 Inductor & 2 Capacitor/1 A 3R 2 Gema
4) 2 Inductor & 2 Capacitor/ 2 o 3R 2 Jerfes
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Q 35) AJFET is also known as ___transistor/ b JFET Eal EA”%IEQ & A 9 off
ST ST 8

1) Unipolar/ W%?ﬁ'q

2) Bipolar/%‘{}ﬁ)f

3) Multipolar/Sg{dd

4) Multijunction / W

Q 36) The following is a correct statement about MOSFET:/ 99 %Y MOSFET & dR

el &-

1) Current controlled/ ﬁl’q"ﬂﬂ yarg (afd
2) Voltage controlled/ CISSSARRIER]

3) Uncontrolled/ fafa

4) Temperature controlled/ dTUHIA [GUIER]

Q 37) IGBT is the acronym of:/ IGBT o1 g %\

1) Insulated Gate Bipolar Transistor/ 5{1@1?‘.6 e dléq\lﬂ{ CiforeR

~

2) Inbound Gate Bipolar Transistor/ 1913 S e FRAIR o TToTeex

3) Insulated Grated Bipolar Transistor/ sgaés IS TRUICR giitﬂ%d‘{
4) Insulated Gate Binary Transistor/ ¥ ¢ICS U CIERR] cllvixcr

D

Q 38) The block diagram belongs to/ &Il \’rﬂw Al %|

[
el | |
— | gt
¥
|

L

C

= v

P

1) AM modulation / AM Sifafrgor
2) TV receiver/ TV R
3) Super heterodyne receiver / m@m &R

4) None of these/ B:Iﬁ I ﬁ_g '_-léT

Q 39) Microcontroller 8051 IC has pins. / ATSsh! [TF® 8051 IC ERIE
gad BIdl o

1) 10

2) 20

3) 40
4) 50

Q 40) Global Positioning System uses/ A gitoriiT Rew BT STINT BT
e
1) CDMA
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2) TDMA
3) SDMA
4) FDMA

Q 41) The Wheatstone Bridge is mainly used to measure / RIeH SIS &1 H¥d

W Pl WY & AT I &

1) Current / BT

2) Voltage / dlees

3) Node potential / qrs faya
4) Resistance / gfoRiY

Q 42) The Wheatstone Bridge is mainly used to measure ) RIeeH siTel BT Hed
W ... &1 A & fow gl &

1) Current / PIT

2) Voltage / dlecst

3) Node potential / 1S fdHd
4) Resistance / gfeRIY

Q 43)%The capacity of a cell to measure in /B AAd DI GHATD ... ..., o A
NGl

1) Amperes / TR

2) Ampere-hour / TR - get
3) Watts / dIC

4) Watt-hours / dTC - ¥cT

Q 44) What is form factor? / BT Thaer 1 %?

1) Average value / R.M.S. value. / @W":ﬂ:{/ SR, UH. T HIH
2) Average value / Peak value / 3 d 7/ < 7

3) Instantaneous value / Average value / oI A1 / 3 M
4) R.M.S. value / Average value. / IR, TH, T H[T / Gﬁﬂﬁ HTH

Q 45) In a Y-connected circuit, between each line voltage and phase voltage, there is a
¢ : D n N o NN o
phase angle of / Y-OIfSId Tfdhe H TS a3 dleesl IR ol el b & . . . . . .

... B o U BT &

1) 0°
2) 30°
3) 60°
4)120°

Q 46) The special device which converts AC into DC and vice versa is known as /

g foRy feagu S Tl ol SR e U F Udpa A Seai dl . ... ... Hed g

1) Armature / TR
2) Slip rings / feerg
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3) Split rings / Tgaite R
4) Field magnet / & Jdh

Q 47) Which DC motor will be preferred for machine tools? / g St T Alex &1 A=A
d & forg gerar & o 82

1) Series motor / RS Hiex

2) Shunt motor / T[T AR

3) Cumulative compound motor / Tt HUTd s AleR
4) Difterential compound motor / faudl durds Aiex

-~

Q 48) Alternative current generator is basically based upon / Qe e H<

SRR . ... ... W YR BT §

1) Amperes law / TR &1 g
2) Lenzs law / TiST BT g

3) Faradays law / 1S &1 |
4) Coulombs law / D clHl I e

Q 49) An ideal ammeter has resistance / 3TGR] T HTURRIY . . ... ... .. gral

1) Low /g
2) Infinite / -I~d

3) Zero / [
4) High / =

Q 50) With forward bias to a pn junction, the width of depletion layer / 3T 9
pn SIHRH dF fSTRRA TR I A8RE . . ... ...

1) Decreases / gedl %
2) Increases / qedt %
3) Remains the same / HHIH ?6(‘“ %

4) None of the these / ST A D5 T8l

Q 51) In a Schottky diode, the silicon layer acts as /U Whicp! srars | Rl
Wd. ... & FUH B el §

1) Anode / Q:“@
2) Cathode / HUTS

3) Gate / TIC

4) Common terminal / PTHA <T@

Q 52) The number of depletion layers in a transistor is / ET%IW T fSfwerem
TRPIEAT............ gl 8

1) four / dIR

2) three / iG]
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3) one / Uch
4) two / &l

Q 53) The push-pull circuit must use operation. / YT - Jef gfpeHr. ... ... PEINE!
BT SUINT AT 1Y |

1) Class A / 90T A
2) Class C / 90ft C
3) Class B/ 901 B
4) Class AB / 90Tt AB

Q 54) In a phase shift oscillator, we use RC sections / ol RIBC QAAB HEH . . . . ..
... RC URM & IUIRT R §

1) Two / @l

2) three / iG]
3) Four / dR
4) Five / UTd

Q 55) In an unregulated power supply, if input AC voltage increases, the output
voltage / 3HTafTafiTd UTeR Iwg # afe 399e U It dices dgdl § ) 33eye
drecsl

1) Increases / dedl %
2) Decreases / 9cdl %
3) Remains the same / JHI Yl %

4) None of these / T A BIs 6

Q 56) The most commonly used filters in SSB generation are / LU SRR |
3 TR U Y W R L gdare

1) Mechanical / BIIEEY
2) RC / 34T

3)LC / Tadt

4) Low-pass / IRERIG

Q 57) In a communication system, when noise is added to a signal? / AR Jorelt d
RAd H Hd IR SIST SITdT 82

1) At the receiving end / TTal RR TR

2) At transmitting antenna / JRYT UfeAT )R

3) In the channel / EEIRS|

4) During regeneration of the information / T ST & qHg

Q 58) A tape recording head converts /Ach <y RaprfeT 5 daddl %

1) Sound waves to radio signals / &= TR ®I e e o
2) Sound waves to fluctuating electric current / &f- T BT SRR ENICEACRE |
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3) Audio-frequency currents to a fluctuating magnetic field. / itear &nqﬁ BT DI
4) Direct current to audio-frequency currents / UHIGR YR P STl 3‘I'I§ﬁf < |

Q 59) Microphones and loudspeakers are examples of ./ W:[ 3R AR STRR
19 & JareRu §

1) Mixers / fRR

2) Transducers / CRISTIR
3) Amplifiers /

4) Equalizers /

Q 60) Frequencies in the UHF range propagate by means of / UHF 391 | &nqﬁm ..

..... » ey afa g &

1) Ground waves / H a7

2) Sky waves / STHTRG TR
3) Surface waves / Jdg a1
4) Space waves / 3dfRef a

Q61) gn SCR behaves as a switch / Qﬂ?ﬁ&lﬁ ......... g & Ty d dsR
Hdl

1) Unidirectional / ThieR
2) Bidirectional / fefarig

3) Mechanical / TifA®
4) None of these / Ezlﬁ g a'ﬂé T8l
Q62) Anideal UHF.isa _ /3MGRIUHF........... garg

1) Voltage-controlled voltage source (VCVS) / diees -Hafad diees A (VCVYS)
2) Voltage-controlled current source (VCCS) / diecs -MIfRd H< Jid (VCCS)
3) Current-controlled voltage source (CCVS)/ P AT alees A (CCVS)
4) Current-controlled current source (CCCS) / < - AT e | (CCCS)

Q 63) One that clips positive part of voltage is known as / AieeSl BT Faig YTHD
YT A Y S S §

1) Current regulator / PIT !(J'IEQ

2) Clipper /

3) Multimeter /

4) Voltage regulator / diee i‘, léa

Q64) CROuses_ /TSR3 .......... BT UGN HIAT §

1) Electrostatic deflection / 3@@% fa&mor
2) Magnetic deflection / W faergur

3) Electro- magnetic deflection / $€1d§\l-ﬂ®l 1 faarmur
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4) None of these / STH A DS ol

Q 65) Which of the following gates has the exact inverse output of the OR gate for all

possible input combinations? / 9 o oF 1 e It Jva {1Yc TaoH & faT or
T &I lh GhH AH3TYL g2

1) NOR
2)NOT
3) NAND
4) AND

Q 66) A simple flip-flop is / YR ey -FAg . ... .. g g

1) 2 bit memory / 2 foe TRt

2) 1 bit memory / 1 foe oY

3) A four state device / dIR Tc feargg

4) Nothing to do with memory / AR & A1y DS i} 781 BT

Q 67) Another name for the horizontal retrace of a TV receiver is ) A RAaR &

e Regp Ruggra™ ®

1) Ringing / RfTfT
2) Burst / T

3) Damper /

4) Flyback /

N

Q 68) The color TV system adopted in India is / HRA | 3T 17T S NIESE
g

1) PAL System / 41T Rieq

2) NTSC System / U a Legy| I Rees
3) CCTV System / 91 TI ¢t o} Req
4) All of these / gt

Q 69) Which of the following has the most capacity? / 9 A O ot &Han s dd
BT 8 2

1) CD-R
2) DVD
3) VCD
4) CD-RW

Q 70) A waveguide section in a microwave circuit will act as a / Hlsob\lad gfche |

I M YGRA . .... .. .. P =Y H B HIdT g

1) Low-pass filter / -9 flheex

2) Band-pass filter / 98 - U fiheeR
3) High-pass filter / E'I_‘éc - O fheeR
4) Band-reject filter / ds froige fhee?
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Q 71%) In PCM, the samples are dependent on szl ke :Wff ......... R 3%
B E

1) Time / HHY

2) Frequency/ \’rﬂ?ﬂ%f
3) Quantization level / TSR <Idc]
4) Interval between quantization level / @TI-C IR ¢fd & oI R

Q 72) GSM is a digital cellular phone system using / Sfl T TH U f&fored @T’E’R

1) FDMA /T I TH T
2) TDMA /181 TH T
3)CDMA /H1 81 TH T
4) FDMA and TDMA /TG Sl T T 3R A S wa

Q 73) In telephony, the primary cause of echo and singing is / cam i H ufaaf
3R RifFfT o1 meifves R el 8

1) Intermodulation noise / 3.€€1:.||§3Q|:| AR

2) Crosstalk / ShT¥ CIh
3) Impedance mismatch / TSy =
4) Thermal noise / Tt ]IR

Q74) power amplifier has highest collector efficiency. /.. ......... Ular

B Bl GeidT SHTH gl &

1) Class C / &0ft C
2) Class A / 90T A
3) Class B/ 9ot B
4) Class AB / 901t AB

Q 75) A magnetic field exists around / W OF P & IR 3R Bral %
1) Iron / F’h_EIT

2) Copper / dl

3) Aluminium / TegFH
4) Moving charges / Hﬁ"T EIc]

Q 76) A zener diode is used as a/an JOREAS BT . ... HEaH
gIaTe

1) Amplifier / TR
2) Voltage regulator / CIGESES !éaz

3) Rectifier /

4) Multivibrator / u&ﬂa@a
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LEVEL 1 Answer key

1(\%(l)l.estion Option 1(3(1)1.esti0n Option 1(3(1)1.estion Option
1 2 31 2 61 1
2 1 32 4 62 1
3 3 33 3 63 2
4 3 34 3 64 3
5 1 35 1 65 1
6 2 36 2 66 2
7 1 37 1 67 4
8 1 38 3 68 1
9 4 39 3 69 2
10 4 40 1 70 3
11 2 41 4 71 1
12 2 42 4 72 4
13 3 43 2 73 3
14 2 44 4 74 1
15 2 45 2 75 4
16 3 46 3 76 2
17 1 47 2

18 3 48 3

19 3 49 3

20 4 50 1

21 2 51 2

22 3 52 4

23 2 53 3
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24 3 54 2
25 2 55 1
26 2 56 1
27 3 57 3
28 1 58 3
29 1 59 3
30 3 60 4

Electronics Mechanic Final LEVEL 2

Q 1) During measurement of voltmeter and current in a load, ammeter and voltmeter are
connected in series and across the load respectively. If ammeter and voltmeter position are

interchanged by mistake, then/ U dle H dleeHieR 3R Hic I HIUA & EERI'_'L UH

1) voltmeter will damage/ dlecHICR BRI E?f GTaTIT

2) ammeter will damage/@Iﬂa W[ E?[ SR

3) both the meter will damage/ EﬁTﬁ Hiex W9 Epf SR
4) both the miter will safe/ GFI HIex YRI& g1

Q 2) Varactor diode are operated in region to have maximum efficiency/
R SIS HfUHaH gardl & oy & o Trferd foram ST )
1) cutoff region/ H3H B &

2) saturation region/ ﬂﬂ'ﬁ%[ P
3) reverse saturation region/ 3hH ﬂ?{ﬁ &
4) active region/ b1 &5

Q 3) Unshielded Twisted-Pair cables are used in/ RIS S E@@ﬁeﬁ bHad
T TN 1 e B

1) telephone lines/ A RSIES]]
2) DSL lines/ DSL @T3!

3) LAN/ @

4) All of these/ T Ut

[al

Q 4) Relation between currents according to KCL is/ KCL & SR f&ng UdTgl & ol
1 HeY B-
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1) il=i2=i3=i4=i5
2) i1+i4+i3=i5+i2
3) i1-i5=i2-i3-i4

4) i1+i5=i2+i3+i4

Q 5) In case of Inductive circuit, inductive reactance (XL) is proportional to

the frequency. / DO Gfdhe & HHA ﬁ, RO wfaerd Gﬂﬁﬁf%
3T BT g

1) Directly /A& U |

2) Inversely / fawdiaa:

3) No Effect/ ®Ig UHTd gl
4) invalid question/3{HII UH

Q 6) In an ideal OPAMP, the voltage gain for the common mode signal is/ U e

OPAMP H, T IS RUA & it diewisigd gt g

1)0
2)0.5

3)2

4) Infinity/ 3d

Q 7) Which of following will provide attenuation in feedback oscillators?/ EEEEEI

e H &fiuF UeH S

1) positive feedback/ YITHD VIR

2) positive feedforward/ YD BISHIRAS
3) amplifier/ Taeieh

4) modulator/ s

Q 8) In microcontrollers, 12C stands for/ W IBUEEY ff, 12C ¥ 3= %—

1) Inter-Integrated cmm@'ﬁ%‘&ﬁ%@’ CNIEY

2) Initial-Integrated Clock/ s’ﬁﬁma-s‘cﬁﬁ%@r CNICY
3) Intel-Integrated Circuit/ ‘s’?fa-‘s’éﬁ%@' idhe

4) Inter-Integrated Circuit/ 3??—3_&"3%_6' HﬁTd

Q 9) What is the address range of SFR Register bank in 8051 microcontroler?/ 8051

AEeh! 8% T SFR IR dF 1 TS Y 301 1 82

1) 00H-77H
2) 40H-80H
3) 80H-7FH
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4) 80H-FFH

Q 10) In cellular telephony, for forward and reverse communication, system uses two

separate/méﬁqﬂ:fﬁ HIRAS 3R Rad TR & o, m@aw ST
 PIUONTERAT g

1) Digital signals/ fefored e
2) Analog Systems/ T Red
3) Digital Data/ f&fSTed SreT

4) Analog Channels/ TATEHT 99

Q 11) The binary number for octal 45 is / 3ided 45 o g SR = g

1) 100010
2) 100101
3) 110101
4) 100100

Q 12) 2 s complement of 1101100 is / 1101100 DT 2 s HUH g

1) 11100
2) 10100
3) 110100
4) 100100

Q 13) Determine the values of A, B, C and D that make the product term A BC D equal to
1./ A, B, C 3R D &1 A Jd¢ S IIE UG A BC D P 19 SRISR §1d1 &

Q 14) A decoder will have  /TS®Iex A ... .. .. Ll

1) 3 inputs / 3 g1YC
2) 4 inputs / 4 gT4YC
3) 5 inputs / 5 g1YC
4) 6 inputs / 6 1YC

Q 15) A device which converts BCD to Seven Segment is called  /dg IEEIER S
BCD & I1d e B 9eadie, . ........ G

1) Encoder / 3:|$-|3€
2) Decoder / ELAER

3) Multiplexer / AT QIR
4) Demultiplexer / fSHeC IR

Q 16) Which of the following memories must be refreshed many times per second? / g

UHR I AARI B Ufd A< o3 IR N H1 A1fgw?
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1) Static RAM / Tfed 30

2) Dynamic RAM / LIGRIGES]
3) EPROM / 3919

4)ROM /3

Q 17) The number of hardware interrupts that the processor 8085 consists of is /

TR 8085 H SO R SRET DI ¥ ©

1
2)3
3)5
4y7

Q 18) In 8086, example for non maskable interrupts is / 8086 H Al AR Sy
o ferg SareRr e

1) TRAP
2) RST6.5
3) INTR
4) RST6.6

Q 19) How many 16 bit registers are there in Intel 80857 / 3:@3’] 8085 H fha 16 fae &
RfoRER Bld 82

)2
2) 4
3)8
416

Q 20) The full form of BIOS is____/ BIOS &1 X1 - g

1) Basic Input Output System / CIRCaES yc 3fI3cyc m&lﬂ

2) Base Initiative Output Set / a9 SHIfRmEfed 3f3cyc e

3) Basic Input Organizational System / CINEEES yc RIS fRed
4) Basic Industry Operating System / CINED 3?:@ TR Rieeq

Q 21) A hard disk is divided into tracks, which are further subdivided into / ‘51‘5“
S P F AU RagvRaeH .. ... .. .. IufuIa Had §

1) Clusters / eI
2) Sectors / e
3) Vectors / JIR

4) Heads / %_6'

Q 22) What is the term used, when you press and hold the left mouse key and move the

mouse around the slide? / oId &meﬁﬁm% aﬁwﬁwﬁ%a‘m
TS & IR 3R AISY &l IdTd 8, I9% ot fbg U ST U gidr 8

1) Highlighting / ST TS [

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=30 18/20




7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=30

2) Dragging / gli.lll
3) Selecting / ;
4) Moving / ]1%"[

Q23) copies electrical signals from one Ethernet to another. / b fed §ﬂi’
Y e o SN ~
3T I% Safdedhd A &I HIF HIdt Hdl §

1) Bridge / Siiof

2) Repeater /

3) Hub / &d

4) Passive Hub / fAfssy B9

Q24)  type of connector is used to plug a telephone line into a modem. / NI aR|

AT HCHA I HA S W, . ... ... UbR P bdex ol YN 8idl g

1) COM1
2) RJ-45
3) RJ-11
4)RJ-10

Q 25) The full form of CRT is SR IRAFT R AHE

1) Crystal Ray Tube / fhweay d
2) Cathode Ray Tube / FUSI [
3) Cabin Ray Tube / Hie X &
4) Carbon Ray Tube / AT _d
LEVEL 2 Answer key

Question No. | Option

1 2

2 3

3 4

4 4

5 1

6 1

7 1

8 4

9 4
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10 4
11 2
12 2
13 1
14 1
15 2
16 2
17 2
18 1
19 1
20 1
21 2
22 2
23 2
24 3
25 2
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